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Question 1- What will come in place of question mark in the

given series.

T 1- 31 715 ST H 9 g o & o RIT AT
32,22,42,12,52,7,62
L J

Ly
_’O +20 30 4o
A. 40
5Q\§°\‘\L “B. 2
—130 C. 36
D. 27
E. None of these
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Question 2- What will come in place of question mark in the

given series.

57 2- 31 15 ST H U g o T ORI AT
11, 23,5,29,7?, 35

L)

“HQ"’?Q Qj‘f)():\l

%48:5 — Al
B -1

5#2*11% 30 -
D. 3
E. 8
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Question 3- What will come in place of question mark in the

given series.

T 3- 31 715 ST H U g o 6 R AT

16,17,26,51,100.2  |0048|= g

T+
L T3R5 4

et o 2 A 111
>4 B. 121

30 C. 131

. 181

E. 171
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Question 4- What will come in place of question mark in the

given series.

T 4- 31 715 ST H U g oh T W A

11,22, 88, 52§, 4224, ?

)Q X
X
L‘ 6 X& A. 21220
HQQHxlor_H@% VBl 42240
3,\0* C. 41440
D. 43220
E. None of these
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Question 5- What will come in place of question mark in the

given series.

T 5- &1 715 ST H 9 g oh T W A
70, 55, 75, 50, 80, ?7— g

(R N N s

3 029 13 ~25 A 55
-B. 45
30 C. 65
D. 75
E. None of these
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Question 6- What will come in place of question mark in the

given series.
T 6- &1 715 JEaT H 9 g oh T o R A
9,31,61,97,137,?

I+ 1X9=3 '3%&)@;\3:(?
51+ ‘0A3:6, B:(\"TXG:__EH g 1;3
ol M= g 30 e 179
D. 188
/ E. None of these
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Question 7- Find the number of female in R.

T4 7- R H AT shl €T F1d shifsTy)

30

A. 12,000
B 10,000
C. 14,000
D. 15,000
E. None of these
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:ZC{OOO Question 8- Find the average number of male in P and Q.
Q507, T 8- P 3R Q H &t ol 3T HE&AT JT hifsTl
30
GROUP TOTAL PERCENTAGE BY
A. 22.300 NAME MALE AND WHICH MALE ARE
FEMALE MORE THAN THE
B. 34,200 FEMALE
C. 17,000
D. 18,000
\_E—None of these
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0 (l>:> 501:.‘_@ M=2
e }95:097(,000

4 = &400

M g- Q400 3

8000

’
AM’?QZJGQO§+
= 497

&

https://t.me/mathbytarunsirmepl

— HC{OQ

O

_



| @ SBICLERK 2023@

\S:KC 00 O Question 9- Find the ratio between male in R and female in S.
o = 3501 T 9- R H 99 3T S | AfZdAT ok = T 34T 1 IS
/» =507 3 3
30
GROUP TOTAL PERCENTAGE BY
A 214 NAME MALE AND WHICH MALE ARE
I FEMALE MORE THAN THE
B. 25:3 FEMALE
254

D. 25:31
E. None of these

S
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30

A. 12%
B. 26%
C. 36%
D 16%

E. None of these

https://t.me/mathbytarunsirmepl

Question 10- The number of female in S 1s what percent of

number of male in R.

T 10- S W AISATSHI shl WA, R H &A1 shl ST AT fehe 1

qfeId 27 [GROUP

NAME

TOTAL
MALE AND
FEMALE

PERCENTAGE BY
WHICH MALE ARE
MORE THAN THE

FEMALE
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Question 11- If the total male and female @is 40% more than the number of

male in P. Find number of total population in T

W 11- At T 3 et oy S e p i et 31w & 40% st E T i

hd [N hd [ e
STHHET ehl HE&IT FTd <hIlSTH|

_— A.22,680
B. 23,200
C. 25,200
D. 24,200
E. None of these

30

»
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0 M P (6300

[= /L/oxg//éo?oo
= R680
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Question 12- Scheme P offere@imple interest while scheme Q offered
Wd interest. Find the difference between the interest received

by scheme P after 4 years and scheme Q after 2%1& a sum @t Rs 40,000.
JISHT P = 80% HTETIUT SATST eh UIThIT hl STalfeh ATSHT Q 7 60% Fsha (g, SITS!

T URTERIT Sl 40,000 I ShT TIRT I ATSHT P T 4 91 o6 &118 TR AT Q g1
2 oh T JTH SATST o o< ohT 3T ATd ShiTS |

A. Rs 55600
B. Rs 4
w7 Rs 65600
D. Rs 77600
E. None of these
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@ §-1= 8o nd = chzuow
= 807, it
CT. R4 15, _PH= 6% TS
° = No+3¢
Dif = 647, of Hood ¢ = logy,
= 696000
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Question 13- Ram and Shyam started a business by investing total Rs
~60,000. After 8 months Shyam removed his investment and at the end of
hdiias
year there profit ratio was same. Find the 40% of the investment of Shyam.

T 13- TH S IAM = FHed 60,000 T 3hT o7 3hich Th A6 & oAl 8
TR ST TATH A 70T w7 geT o T o o 37 § & ST{dTd So ol s

ok TIeIST T 40% T ShITS=|
- A. Rs 18200
B@M?— @PM K Time.
30 B. Rs 11200
C. Rs 19200
D. Rs 11200

https://t.me/mathbytarunsirmepl _E~None of these
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@ Rm: X /59%7,/,:, 69600 — ooy
\fgwm_-,éoooo-—Z( = Z6000 fr.
lxﬁf{ = (6oooo—g()><,&3 L/O/’ddy %m\’%%g%%o
3x= 1Qomo~2x = ¥ (4400
51: 'QOOOQ
= g0,
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Question 14- A person have type P and type Q article in ratio 5:7. He sold
60% of the type P(and 60 asticle form Q then the ratio of remaining number
of article in P and Q becomes 2:3. Find the total number ofm

T 14- Tk ATk o U9 2139 P 3R BT Q TG 5: 7 o T | 2| I P ThH I
60% 3T Q H 60 STEIAT i sI=IdT &, T P 1T Q H & shl I HEAT shl LU 2:
3 81 STTT 81 TR | %] o el H&AT J1 hlTeTY]

A. 120

30 B. 140
€ 180

D. 210
https://t. me/mathbytarunsirmepl E. None of these
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@ P—_ﬁl 81;?,}-60 /H@\//;g
= I =
§=F LDZ e 5JK§=Q)(
ordsx T=lo >
Hoeo g |kl g el /
21 = (TH+52)
TX~6s = = 1Rk
S =l
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Question 15- Machine P prints 14,400 paper in 16 hours while machine Q
prints 45,000 paper in 30 hours. Find the time taken by both machine to

print 19,200 paper.

T4 15- WRMA P 16 = H 14,400 U i hidl @ STaileh 7efiA Q 30 e H
45,000 YT {572 Tt 21 ST A1 SR 19,200 SIS Hisied vt § foram T
ERRIGECAIE Y

A. 6 hours

B. 9 hours

30 C. 12 ours
~—DB~ 8 hours

E. None of these
https://t.me/mathbytarunsirmepl
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Question 16- P bought an article and sells to Q at 60% loss. Q sold it to
R at 60% profit and R sold it to S for Rs 42,000 at 25% profit. Find the
price at which P bought the article.

T 16- P Uoh g @lal 3R Q 3l 60% BT W o= fa=am Q 1 36 R =l 60%
AT TSI ST R A 56 S %l 25% A9 T 42,000 TR H s fe1| 36 Hod o

Tl TG, 57 WX P S it off|
A. Rs 20,000
B. Rs 1,0000
30 C. Rs2,0000
D. Rs3,0000
/E‘/ None of these
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@ P & R S 5)(5/*;:‘/52000

oo HO  lborfyo S |7 S
?{5 OJ?XGQ I:M I‘Q\S/ﬁ’g
:6H 86
[Co< o
(0/0/ %X{
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